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Choose the cor rect answer .

A function whose domain is a subset of natural numbersiscalled
(a Identity function  (b) sequence (c) onto function (d) series

If a,= 2—]; , then first four terms are

1111 111

I IR R R b 2;4;8’16 C 1’2’4’8 :L_a_a_
(24816 ®) © @ 248
The genera term of the sequenceis denoted by
@ a (b) a, (©n @ S,
The difference of the two consecutive terms of A.P. is called
(a) general term (b) common ratio () common difference (d) none of these
-2147,...1s

(8 harmonic sequence (b)arithmetic sequence (c)geometric sequence (d)arithmetic series
The n numbers A, A, A;,...A, arecalled arithmetic meansb/w aand bif a, A, A,,...,A,,b is
(a) arithmetic series (b) arithmetic sequence (c) geometric sequence (d) harmonic sequence
Arithmetic mean between 35 and 5v5 is

(8 8V5 (b) 25 (9 5 () 45

Write the first four terms of the arithmetic sequenceif a, =5 and other three consecutive terms are 23,26,29

(a) 23,26,29,32 (b) 5,8,11,14 (0 8,11,14,17 (d) none of these

The nthterm of aG.P. is

(a) air n (b) air n+1l (C) air n-1 (d) air -n

3,6,12,...is

a A.P. (b) G.P. (c) H.P. (d) none of these

Find the geometric mean between — 2i and 8i

(@ +4i (b) =4 (c) =8 (d) none of these

Sum of the n terms of the geometric seriesif [r|<1is

@ a(r'-1 ) a,(1-r") © a,(r'+1 « a(r'-1
r-1 1-r r+1 r+1

The common ratio of the geometric sequence cannot be

@0 (b) 1 (92 (d)3

If a,r arethefirst term and the common retio respectively then the sum of infinite geometric series is

A A A A
@t Ikl O bl @ Irkl @ bl

The sum of the infinite geometric series exist if

@ |rk1 o |rp>1 ©r=1 (dr=-1

A sequence of the numbers whose reciprocals form an arithmetic sequence is called

(a) geometric series (b) arithmetic sequence (c) harmonic sequence (d) harmonic series
No term of the harmonic sequence

(@0 (b) 1 (©2 (d 3

The harmonic mean betweenaand b is

@ 222 (b) +ab © 22 @ 22
a+b
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2K =
k=1
2 2
@ n(n+1) (b) n“(n+1) © n(n+)(2n+1) (d) none of these
2 4 6
IS
k=1
2 2
@ n(n2+ 1 (t) n (n4+ 1 © n(n+ 1)6(2n +1) (d) none of these
The 6™ term of the arithmetic sequence whose 1% term is 3 and common differenceis zero is
(a) 18 (b) 6 (93 (do
The fifth term of the sequence a, = 2n+3 is
(@ 13 (b) -13 (08 (d3
The third term of the sequence a, = (-1)"*(n-7) is
@8 (b) 4 (©-4 (d) -8
1+2+3+4+..+n=
n(n+1) n(n+1) n(n+1) n(n-1
P S— A by —2~ g ——~ i S—
@ 2 (b) 5 (© 2 (d) 2
AM. between 1— x+ x* and1+ x+ x? is
(@ 1+ x? (b) 1- x? (© 1+x (d) 1-x
If S, — a limitas n — oo thenthe seriesis said to be
(a) divergent (b) convergent (¢) both of above (d) none of these
1 E i iscaled
2712
(a A.P. (b) G.P. (c) H.P. (d) none of these
If &, , =3n-11, find the nth term of the sequence
@11 (b) 3n-5 (0 3n-6 (d) none of these
If 5 isthe harmonic mean between 2 and b then b=
@3 (b) 8 (0 10 (d)-10
The harmonic mean between 3 and 7 is
@5 (b) = V21 (© % (d) none of these
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